P 4= [—]
STAFE (202248 & & 7 = ¥ 3 £ OB MM N AR1EIR
O---#BHY x- MBHL KFOEIER ORSHIMA [DUHEEET— #- RERE B BASE (K- SHEH Fo o SBEE AAAEL B FUL BB % SEOBE 5 sE0R % RELS B REx 9957
4 A 5 A 6 A 7 A 8 A 9 A 10 A 11 A 12 A 1 A 2 A 3 A
EREHRIA(~5) z TeEBTED F SEHERE EBH B 5 EHFELED 3 SRR E: REEEREAS 3
nE m( |8 nEs o | £ |z8reeae 1|8 nES e naps nES 1| 8|z 1| & 1| & 7
o) 0 o o o o) o)
6 6 6 6 6 5 6
. S - AN " o [ T 15 [PTE N T 15 |FEETEAmE 5[ ES
N 2 7 i
2 2|8 2|3 2 2 2|8 2 2| % 2|8 2 2|3 2|3
6 6 6 5 6 6 6
EDERSTAER  F S 3 RS RBERERRH SESHA® F TEEHSE F
N 3 | % |mzran 3|z N LS - 3| B 3 | *|xtton e 3% 3lz 3| g|pramaz
o FUNS 1 E P2 o o 0
6 6 6 6
- el 1 xlozvon MELE 1 15 7 . N F| L[ RETRE T 15 N : :
3 7l YD X a i
4 4 4| 4|8 4 4 4|X 4|8 4 4 4 4
4 6 6 6
* i | 5| &[ceton g [ UETRE * 1sle I ol x e it E L L I PN B B
D% 3 = = D D% 7l =2 F#
5 5 5 5% 5 508 5% 5 508 5 5 5
6 6 6 5
REEBERCER % BXEZ AR F EDERERA BIEREED e % FEERREETRE) & FHFER % E: EHRAR~ 1D 3
6|7 6 | & [RoBEAR—FEETHR 6|~ 6 | X 6| 6| X 6| & 6|8 6| X 6= 6|8 6|8
x 0 o o o o o o
2 5 6 6 6 5 6 6
TEEE 2 2 BIEREED ® TR £ BWERZ e E ERFHH i 34EBHHO 7 7
7 | & 2= pienmmn I 7| % ES .= kS kS .y 7| e -,y -y
o , o o 0 O [t Atemmsaats o) o o
6 6 5 5 6 6
FEE (V) EEIRD  F FRTAED 7 SERER ¥ 5 WEEE(~ 1) ERFHH ® & =
8 & [2~6E—FT# g|B 8 K | g & 8 A 8 X 8 T 8 K BRIL R S RS2 A RS 8 X g|B 8 K Bl g K B
O |Pramrizma-was o o o o o) o) o)
5 5 6 6 5 5 5 5
: - BN SR . 3 - " P GEAZECE R B N I N T 15 [FEEEERED w[ | [FEee &
HaMa i (HE U4 3 7] >
9 9|8 9|3 @ 9 9 9|8 9 9| 9|8 9 9|3 9|3
6 5 6 5 4 6 5
% |RRE = | & [DARZHRZE 3 F[TTLTS 2~ 5(~16) AT TSRERRT B S = 1% F B EZ A ¥
10| B 10| X 10| & [1FitaRE st s— 10 B 10| X NES 10| B [FR—vnE 10| & [ERRE B|qo| 10| X |—FEE TR 10| £ 10| £
@ 0 o) 9 0 0
6 5 5 5 6 5
g [ ] P e e 7 || x|wos B % 1ile e K #| | £ [emrzon +
R 7l R (2] X 7 N0
1|8 1| Bl yames.zgam 11 1|8 11 11 ES 1 E 11 1 x 11 11
6 4 6 6 5 5
| = [ e 3 - " [ la % D I eI I I %[ BTEEED w1, e -
" % p
12| & 12| 8 12 HES 12 12| 8 12| K|ERE, . xpa 12 12| 8 12| 8 12 12
6 6 6 6 4 4 6
EENTELED = ¥ TAHER (~ 1) 2 KABEE(~15) 5 OfERERE AL = TEERRDE REE B EIEEE0 = PTABTTES F E ERAHH 3
13 K B3 & 13 A 13 K Hlq3 * 13 X 13 KRIAEFZEZLHROEL 13| B 13 N|BIPERERERE 13 Ed 13 A 13 A
o o o o o o) o o o o
5 6 5 5 6 6 4 6 6 5
[ A » T WS 1 1x 3 - [ L EEE P R E[ 1, [P . Mk e =
X 7l 2= bl W wW
14| 5 14 14| % 14| 8 14 14| X 14| % 14| 8 14| X 14 14| X 14| X
6 5 6 5 6 5 4 6 5
P 3 R B P L N e T 15 | B[ | L [FERrRRE (T FAE-RERT ®| [ [EenETEs w15 N B[R e
PTA#SZ PTAEIS 7l R 4 X 7 L) b 2 ¢
15| & n 15 15| X 15| & 15 15| & 15| & 15| &8 15 15 X 15 X 1
4 5 5 6 6 6 6 6
. . B[ 52 " N 5 S e N NG 15 BN S L BN s e
X 7l R
16 16| & 16| 5 16 16 16| & 16 16| X 16| & 16| 8 16| 5 16 %
6 5 6 6 6 6 6 3
. oERERERRF W] | s N MEiR [ FErEeE I - w2 TEREREE BN S NG o RPN,
X 7l LA X =R AR
17 17| & 17| & 17 17 17| % | 17| 8 17| 8 17 17 17|18 17
6 5 3 6 6 6 6
M P e A * (gl B | TR el 2 kg e k #[qg] £ +
NRT: H(4-5 7l ki X & |PTA B 7 "
18| & [\RTRETRE 18| X 18 18 18 18 18| & 18| & (ETALdAS 18 18| X 18 18
6 6 6 5 6
TEEIPERRAE % TEFRE 3 ERFHH F[ [ O[ZHEER = EERED = EFAR(~20) 3 ES
19| & [FESHE 19| 8 19| B 19| X 19| & [TFRETH 19| A [#E°8 19| X 19| 19|18 19| 8 19| B 19| B
6 6 5 3 6 6 6
FETET = [ [FrEREERE [ e A [ 7T 1, — L~ [FFe # 15 | FEEREERTER | | _(FFRRRAT EWEE £ | 7 14
JK [NRT: B E ki 7l X |#x X i
20| X 20| % 20| 8 20| X 20 20 20| 3 20 20| & 20| % 20| 8 20
4 6 6 5 6 6 6 6
| B # 12 " #[ [ [FTEE # 15 R NN AN [ HNP® i I I P
#3 x 7 2 7 ® K [BLELINI—2HG X [EHORE
21| 3 21| - 21| & 21| 21 21| X 21| % 21| 8 21| X 21 21| K |** = 21
6 6 5 6 6 6 6 6
KREEEA TR E r 6EEMZFE  AliE ] JEZ S 3N ES Ed ARGREERD) E] Ed 5
N 115 [FEREEEEE 5| | _emREs [ 1A A1 gD M M e 515 N BT
& 71 & X i Y
22| & 22 22| X 22| & 22| 8 22| Bl i 22 22| & 2|3 22 22| X 22
6 6 4 6 6 6 5
S A [Enaaan Flal xR ol = % sl 2]ms ] K | 213 % N PR i S U PN P *
i =) X & (7 DB K| BFE#O R & AE—HE 24ER
23 23| 8 |[EB=RE 23| & 23 23| & o) |2, 23 23 23| & 23| 8 23 23
6 6 6 6
o " i . o " HN» - B[ [PEeaE 71, M = [ EeE ANNEGiG
X & |4 P KIS 7] " X i &
2 24| X 24| & [LEMATE: 24 24| X 24 24| 8 24| 3 24 24| & 24| % 24
6 6 6 6 6 6 6
B Ed K %?ﬁjgﬂi % = = 2R (~8/18) * ES - % ﬁfiéﬁz#fﬁf‘“ E2 - RARBREREERQ Ed . X gﬁ " AEITTRTA/NL "
7l =7 X2 ERRE G )
25| 8 25| & 25 25 25| & 25 25| K |2 EERRS o |25 8 25 25| X 25 25
6 6 6 6 4 5
P e Y 0% e ] Y " N | [ ER D B | EEE=E e - 7 » #15 .
D% = D% + 7l q_*\ éz I
26| X P 26| 3 26 26 26| & 26| 8 26| X E 26 26| 8 26| A 26 26
6 6 6 6 6 6
R P - I : M [ » 515 MG i ANE N
7| 53 71 X X 2
27| X 27| & 21|18 27 27 27| & 21| 3 27 27| & 27| % 21|18 27
6 6 6 6 6 4 6 6
N TRELHETFHA G 4F) 5t N % 3-4F3HEAQ) Ed " T K = Y K e WEOQRBAM(~12/3) & e ZIKH (~1/9) - * Ed .
" ; ool 2| camaasss ; " %
28| 28 28| X 28 28 28| X 28| & | LETEEE 28| 8 28 28 28| & 28
6 6 6 6 6 6
e BARBTES & 3 e "
| 2 e 29| B 29| X 29| 20| 8 20| & 29| T 20| X 29| & 29 B 7| 2| e
5 5 6 6
3 A [sHEgIE (020 | g| K ool £ % ool 2 ool K ool e A * *
BRE G (~6/24 X & 7] i
30 30| A [(#EEEH 30| A 30 30| X 30| & 30 30| X 30 30| 8 30
6 6 6 6 5 6
* * B K 5 ; * S * * S
" p " -
31| X 31 31| X 31|18 31 31| & 31

ES ]
207 | 11

20

N




